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13. I Solve this equation by factoring.
R-2-8=0
x—dix+21=0

( u‘h’ on
6\40/’( nXer e (?
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the lox =7
/(,'57‘/—,'607'?‘

29. 1622 — 48x = —27
16x% — 48x + 2T =0
4 - 94x -3 =0

orx+2
x=4 , 2 x =6 3
Add the two solutions. The solution set is [6]. 3
L 23. 2+ 64 = 162 :
xf— 16r + 64 The solution set is [‘!. i}
(x—8ir—8)=0

Pages 304-305 Practice and Apply

r—B=0orx—-B8=0

30. 2%+ 12x — 16

4 25— 24=0 =8 =8 72";27_6;4_83‘-
x—3ix +8=0 The solution set is (8] x—4)x —2)
x—3=00rx+8=0 24 a7 x-4=00rx—2=0

x x=4 x=2

The solution sat is (-8, 3]
16. x* —3r — 28=0
Tz +4)=0

The solution set is {4, 7).
16. 22=135
2?-25=0
(x-Bix+51=0

The solution set s | -2, |

dx—1jx—4=0

The solution set is (2, 4]

x-ix+3=0
T—-1=0orx+3=0
=1 x=-3
The solution set is {—3, 1%
32. xx +B)Yx -5 =0

x—6=0o0rx+5=0 4r—1=0Dorx-4=0 =0 orx+6=0 orz—-5=0
=5 x 5 4r=1 =4 xr=-6 xr=5
The soluunn_‘sel is |-5, &) r= ‘I The roots are 0, —6, and 5.
17. z* =Bl f a3 o=
¥ _Bl=0 The solution set is |5, 4|. " P Gr=0
(x - 8)x +8) :.D 26. ax? 1 gr x(x? - 8) =
T-9=0orx+9=0 A+ Br+3 xix — 8)x+3) =0
x=9 x=-9 (2x + 102x +3) x=0orx—3=0o0rx+3=0
The solution set {-9, 9} Z2x+1=0 or2xr+3= -3 -
18. 2+ ar=18 2 The solution set is (3, 0, 3}
2+ar—18=0

x-3x+6) =0
x-3=0orx+86

4. x—4Hx -5 =0
Z-9x+20=0
8. x—(-2x-Tr=0

=3 E 8 27, [ x+2)x—-T)=0
The solution set is {6, 3}. B+ 13x + 6 —-Bx— 14=0
19. o -4x=21 (31 + 2)(2x + 3) 86. (x — 4x — (~B) =0
rif_ax721=0 Br+2=0 or2x+3=0 (x—4)x+8)=0
(x—THx+31=0 ax=-2 2r B+x—20=0
gl 3 37, x — (—6)]lx — (-8)] =0
[ x+6ix+8)=0
The solution set is |- AP+ 14x+ 48=10

28, %%+ 30x = —16 38 [r-jjx-m=0

952 + B0k + 16 = Yo s
(82 + 2)E8x + 8) =0 PF-gEtg=0

The solution set is

3x+2=0 or3x+B8=0
ar=
x

ar=—

T=—

AT

The solutions set is

2% - T +3=0
3. x tx-m=0
xz—f:(-#f;:tl
B 160+ 5=0

21. axt = —3x ) (
4 par=0 4n.|1—‘ ]]‘I—jl:ﬂ
x4x+3) =0 i ) Y
+3fx—3|=0

x=0ordx+3=0 [x+5h= -3
4x=-3 1.z_llz_,(_;:u
x= 12¢8-x - 6=0

The solution sat is
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